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gATRNER &Y/ 1R @
Each question has four alternatives. Choose the correct one and darken
completely the appropriate circle in the OMR Sheet
with Black/Blue ball point pen.
966490 gga gmy 1 (9e) &66 1
Each question carries 1 (ene) mark.

aag gga Ree @2 |
Answer all questions.

& - oam (6alow oRIe)
Section—A (SCP)

1. 2189 9dY9 Qee6a fea ud| 1. Basing on the properties which

200191 698 6aegee g one ofthe following elementscan
6o8 ae@ ga-1 6 ga-176a be placed both in group-1 and

£ group-17 of the modern periodic
QHARAQS ? table ?
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(A9 secpas

(B) saisi@dsae
(C) sQal@as
(D) YIwmewiswm

STeOm ewe chAlaen Zaes Jd9
QAL Oomal @06 99 A olww e
Soda calaw agigl Q8 wea G QI
Fwmasl Wwe'sSlic 2es 7

(A Fe
(B) C

(<) ca
(D) Si

@8 97 9 QIg 9"ed6q 2I1deq | 3
604 651RGT6R 2Ry B6RIE 0Ig &R
cdlgea 219ad 93 cTinalg 7

(A) Al
(B) Zn
(©) Mg
(D) Cu

F6RID ALEAINE AXYQ CRATER | 4.
IT@ BR 2GA°SYl ALK ?

(A) @09 ANETS
(B) suioel ealg!
(C) qQag g auag
(D) ®aeq

(A0 Fluorine
(B Potassium
(C) Sodium
() Hwydrogen

WYWhich one of the following ele-
ments when reacts with oxygen
forms a compound with high meit-
ing point and is soluble in water ?

(A Fe
(B) <

(C) Ca
(D) Si

In which one of the following
element coating of a different
type of compound is formed from
that of the other three, when
comes in contact with air for some
days ?

(A) Al

(B) Zn

(C) Mg

(D) Cu

Which of the following salts has

the highest number of water of
crystallisation ?

(A) Coppersulphate
(B) Washing soda
(C) Plasterof Paris

(D) Gypsum
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5 ZIRees 6ga1a 9019 cdldesa | 5.  How many covalent bonds are
REO-QIF0 rNEQ 6QR60IT ag there among the carbon atoms
Q°6QIF1 9F Q28 7 g:k::_z ;’;’;gsc,fmm“”d of the
(A) 3 (A) 3
(B) 4 (B) 4
(C) 5 (C) 5
(D) 6 (D) 6

6. Q6QI9 UFAIRE AAYQY 6RAT 99 | 6. Which of the following metal is
RAIPEQA GYE6a Awalg 7 freely available in Nature ?

(A) Na (A) Na
(B) Ag (B) Ag
(C) Fe (C) Fe
(D) Zn (D) Zn

7. bk 4G Gl Wiy werng | 7. Which active group does not
QoI ? contain carbon atom ?
(A) 2NN (A) Alcohol
(B) 2GRN (B) Aldehyde
(C) @6oIr (C) Ketone
(D) QBIREAR 3R (D) Carboxylic acid
8. @ QgR AQIAT aFa 64la® X'g | 8. Ashining brown coloured element
QIZER QET Q6w B1T @R 6TIRAN | %' when heated inairturns black.
£66R GERI@ 69R 6¢TI0R W' 2IRQ ? What is the element *x' ?
(A) Cu (A) Cu
(B) Ag (B) Ag
(C) Fe (C) Fc
(D) Al (D) Al
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9.

10.

G678 NOEYEe AUIQ 6RNTa
F@1E 994e pH my 79 Tua ?

(A) 6QITAL 6L
(B) 6Q191T9f] RIRETS
(C) «Rfgasn 6
(D) eQigaq <9dees

ZAUFER Gl ANERI6FIAR 1AR
9e° QIR QIRER Ydea era
212A1G Q2IK[ER 66 ?

(A) 2:3
(B) 1:3
(C) 31
(D) 3:2

10.

Out of the following salts whose
water solution has the pH value
more than7 7

(A) Sodium chloride
(R) Pntassium nitrate
(C) Aluminium chloride
(D) Sodium acetate

What is the ratio in volume
between the Conc. hydrochloric
acid and Conc. nitric acid
respectively in aquaregia ?

(A) 2:3
(B) 1:3
(C) 3:1
(D) 3:2
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13.

14.

5D QI@lq Q98 99 6RAq dFQ
30 cm QRGIER YGEY QBICER,
2g0IQ 6R6S QA0IER 0I'Q gL,
q8 629 ?

(A) 30cm

(B) 60cm

(C) 80cm

(D) 120cm

64115 QYR 691G §16) 8 AR
ACARILR AOQ 2°96Q QAR
CRGR 9196 :

(A) 48 268

(B) gIs 2ieq 9948 @A
(C) QI8 2Ieg |48 @F@alg

(D) 9QOIE] AAIR QER

2RI AT VIR CQSAING ?
(A) gogad

(B) geide

(C) gouoee

(D) Sgae

'VA' 6200'Q 99R 26T ?
(A)
(B)
(©)
(D)

QQYYQ goealal
Agye 99
QQIe aIgIQ
QQYa €gIv

2RIV 69N ARVSE 6AIg AR

;i

12.

13.

14.

At what distance from the object
the image of the object would be
formed when the object is placed
at a distance of 30 cm in front of
alens of power5D 7

(A) 30cm
(B) 60cm
(C) 90cm
(D) 120cm

The intensity of the magnetic field
inside a current carrying long
and straight solenoid :

(A)
(B)

is zero

gradually decreases towards
the end

(C) gradually increases towards

the end

(D) remains same at all places

Due to what phenomenon of light
the clear sky looks blue ?

(A)
(B)
(C)
(D)

'"VA!' is the unit of which one ?

Refraction
Dispersion
Reflection

Scattering

(A) Electric resistance
(B)

(C)

Electric energy
Electric power

(D) Electric current

https://byjus.com


https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learning App

15.

16.

220V RIER6eR 9@ 2kW 69Q4e:
QURAE NIV CLAYSH YL
6RET 6T IR CI1F LI
ARIAQ e v

(A) 2A
(B) 3A
(C) 5A
(D) 10A

xW, 220V 6nci2Ql 4@ QUG enRa
gosaudl 484 67 621R1E6M X' G T4
EWEQ 699 7

(A) 25
(B) 40
(C) 60
(D) 100

15.

16.

If an electrical equipment of
2kW is usedin a 220V line, what
rating of fuse wire should be
usedinit?

(A) 2A
(B) 3A
(C) 5A
(D) 10A

If xXW, 220V is written on an
electric bulb of resistance
484 ohm, then what is the value
of ‘X' ?

(A) 25
(B)
(C) €0
(D) 100

40
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17. 99 6EQIoe 6FITQR 21 SS8I91

18.

19.

KRR AIG 6T OR Q6% 7

(A) Qi QAR ATL6E TYIT AR

erQl el

ICEE IR ARTEE YO TR
ELQ| BNIEYD

(B)

(C) QAR 6L A°¢UYl LRI

=gy

(D) QI 4™ JIAER AeAQ

emel dlegie

2RI B T FON TR 606 TRITEaR
Q0% g9 ?

(A)
(B)
(C)

Qee 9d4 B 290R 6ARd
290 @d6 6 Q8R 6RAT
Qe 904 G AP 6RR

(D) 2196 @dd 8 29eR AT

12V SQQIe 29! QA% @9 Y6
2C Q19 QI9I8a @8l A 0.02
62624 AUTEM 6260 AIGIQ LS
689 ?

(A) 4800W

(B) 1200W

(C) 600W

(D) 300W

T

18.

19.

Which one is not correct to
make an electric motor more
powerful ?

{(A) Permanent magnetisto bce

replaced by electro-magnet

(B)

Split rings are to be
replaced by slip rings

(C) The number of turn of its

coil is to be increased

(D) The coil is to be replaced

by armature

Virtual and diminished images
are formed in which two of the
following ?

(A) Convex mirrorand Concave
lens

Concave mirror and Convex
lens

Convex mirror and Convex
lens

Concave mirorand Concave
lens

How much power would be
spent to transfer 2C charge in
0.02 second between two points
having a potential difference
of 12V ?

(A) 4800W
(B) 1200W
(C) 600W
(D) 300W

(B)
(C)

(D)

https://byjus.com


https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learning App

20. o 6ANRYQA 6TINY QG| KAgem @

=1.

geiq @aAsQI’ eLiqarg ?

(A) Q@98

(B) aaia Q@

(C) <QI@al

(D) <9<’

40 6Qf @Qel UIQAIF SI] 6TIT9
PO @48 dFPIIea 9959 696%
GATIER QABIGCEM SILIQ G B
3 YRGS IAYTE 69 7

(A)
(B)
(C)
(D)

10cm
20cm
30cm
40 cm

20. What type of vision defect oc-

=1

curs when the focal length of the
lens of the eye is decreased ?

(A) Hypermetropia
(B) Myopia

(C) Presbyopia
(D) Astigmatism

At what distance an object should
be placed in front of a concave
mirror of radius of curvalure
40 cm, so that its image will be
inverted and magnified two times ?
(A) 10cm
(B) 20crn
(C) 30cm
(D) 40cm
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22,

23.

(C)

QRIS AR TN Y GRRIE
q6Qtea geéaqdis 1.5 26g |
QEATRER ZIERIN 696 694T :
(A) 0.67 x10°ms™

(B) 1.50x10°ms™

(C) 1.67x10°ms™

(D) 2.00x 10°ms™

206a SAIAIR2S! Y6L4R 98269
'P'3'Q A4S TRS TIER QAR
26E | 9RQLAIEER 8l g
gosalx 2 Q) 626a 6R6 0ATAUER
3948 696 AR 689 ?

(A) |

22.

23.

The refractive index of glycerine
with respect to air is 1.5 for
normal light. The speed of light
in glycerine is :

(A) 0.87 x 10°ms™

(B) 1.50x10°ms™

(C) 1.67x10°ms™

(D) 2.00x10%ms™’

The potential difference between
'P'and 'Q'in each of the following
circuit is the same. If each
of the resistance in the circuits
is 20, in which circuit is the
current maximum ?

Tl s W
o]

(A)
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24. Zn+ CUSO4 —— Zn80,+Cu. 24. Zn+CuSO, —— ZnSO +Cu.
QUAVTR AAIGAET €9 IR What type of chemical reaction
gosal ? isit 7
(A) Q%6488 (A) Combination
(B) 6%e @gae (B) Double displacement
(C) e (C) Decomposition
(D) =gIae (D) Displacement
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25. 2IINGe 9dyIg Q€I Y1a AIa

Qgqa 6a1@e (M) 9e° g91g 2I8a
Qo1a 641Ra (N) AuY6Q QUAILRS
Q°ga AT6R 9] 6dITRa &g AT
Q'6 689 7

(A) NM

(B) MN

(C) NM,

(D) MN,

25,

In the modern periodic table, if
the seventh element of the
second row is M and the second
element of the third row is N, what
would be the molecular formula
of the compound formed by their
chemical combination ?

(A) NM
(B) MN
(C) NM,

(D) MN,
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of — Ganel (19 OFIS)
Section-B (SCL)

26. 90080 629 62108 22 T4 26. :dhil-:-;th IS thet c;ilmbelr of the
AR A°YS 62192 ? eart connected to pulmonary

artery 7
[ e (A) Rightatrium
(B) < z@e (B) Leftatrium
(C) ofaGea (C) Rightventricle
(D) < GRS (D) Leftventricle
27. 6@Q 69197 a8 FAIe QRQIQ @4 |27. Which protein does not allow
o ? clotting of blood ?
(A) TIRTERIERR (A) Fibrinogen
(B) 29188 (B) Heparin
(C) s&gIgAx (C) Prothrombin
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28.

(D) gerIqgaq

QRRQ BEC 696 206 ARG 09

Qe T2IRER ATIAR 6212 7
(A) U6
(B) 1Q62601MER
(C) wicQlcgaR

(D) eARIESIRa

28.

(D) Thromboplastin
Which is the hormone secreted

from kidney that helps in
synthesis of red blood corpuscles ?

(A) Oxytocin
(B) Erythropoietin
(C) Vassopressin

(D) Melatonin

29. Q&9 6RUNET QU6 A8 ARINRA

og a2 ?

(A) Qe uAQ1 » QATEQQ
QAUAT —» ITEAE QAVART
- af aeidal

(B) Q&9 dal —» 9@ AR —
NTERS QAUAGFT —» QTS

713119 1%

(C) 9R/e AR —» ITERE Qa-
AR > ATEOE AAUAGT »

qae dal

(D) 96as QUUAR —» QRN

U - QTR AU — |

Qe al

29. Which is the correct path of

circulation of blood in nephron ?

(A) Renal artery — efferent
arteriole — afferent arteri-
ole —» superior venacava

(B) Renal vein — renal artery

—» afferent arteriole —

efferent arteriole

(C) Renal artery — afferent

arteriole — efferent

arteriole — renal vain

Afferent arteriole — renal
artery — efferent arteriole
— renal vein

(D)
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30. 6Qa LAEAIQ 8 6T PAFR AR

31.

32.

Q& @aad ?
(A
(B)
(C)
(D)

2IRAR
FREAMR
QIRETIRIRNGTR

219dde 9ade

6RAE FenIcgIf e G0 gl

2R ?
(A)
(B)
(©)
(D)

2leaIeR
AIadaa
cqle

N3 [[al=a1=]

ZICRINEHE4 TSRS ]l AR
Q’§ Qg 2AIRENR ?

(A) 6T, R, AR
(B) 6qleqiaa, AT, o
(C) eqedR, 2R, AANT

(D) 6QI6QITR, 2IERAIR, AR
QIR 689 2°§6Q AT AN
QQ @ ga fdana ?

(A) gQa

(B) geen

(C) saqeq

(D) «faq

33.

30. Which hormone does enhance
the rate of cell division in plants ?

(A) Auxin
(B)
(C)

(D)

Gibberellin
Cytokinin
Abscisic acid

31.
formation of hemoglobin ?

(A) lodine
(B)
(C)
(D)

Calcium
lron

Potassium

What are required for light
reaction of photosynthesis ?

(A) Chlorophyll, Water, Light

(B) Chlorophyll, Carbon dioxide,
water

(C) Chlorophyll, Carbon dioxide,

Oxygen

(D) Chlorophyll, Light, Oxygen

In which part of small intestine do
both pancreatic juice and bile get
mixed ?

(A)
(B)
(©)
(D)

Pharynx
Duodenum
Jejunum

lleum

https://byjus.com
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34. 219Q @9 GIYQ B AR ILR CRNE
QIR ga| ELINAT 7

(A) |8

(B) 298 Azl A1°A6941
(C) gl

(D) Qo9

69% 6QIFIT AANRG ?
(A) 8 -gaqq

(B) QIR - Q8

(C) gaqf - 24l

(D) €gIa - @<

36. QKT 999l 6996Q 6915 glafe
@Alg 6RNTQY €RERIT AINIR QG
SR 6TINANIGR ?

(A) 04

(B) 03

(C) 02

(D) 01

6R68 J1616Q 2HF6IR S
eosliag ?

(A) cdim

(B) eowr

(C) ad

(D) agaig

37.

35.

36.

37.

Which one does separate our
thoracic cavity from abdominal
cavity ?

(A) Sternum
(B)
(C) Diaphragm
(D) Glottis

Inter costal muscle

Which is the unrelated pair ?
(A) Whale - Lungs

(B) Gills - Turtle

(C) Spiracle - Cockroach

(D) Stoma- Plants

How many polar bodies can be
formed from a primary occyte
after completion of maturation ?

(A) 04
(B) 03
(C) 02
(D) o1

In which animal is partheno-
genesis seen ?

(A)
(B)
(C)
(D)

Alga
Frog
Femn
Honey bee
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38. ¥@q TqO96Q 6RET TgIANIA

39.

40,

QIS ?

(A) 63ad Qe

(B) <9Quael

(C) @999 78104

(D) GeIFIIE o9 ao1al

A86A GRIEEA ZETIERN QS
6960 7

(A) 1

(B) 2

(C) 22

(D) 23

6769ns QAwad 0qI8€sa F,
JPEQ 6260 gRIQ 98Yqd AR 2
(A) 1

(B) 2

(C) 3

Q) 4

39.

40.

Which is a reliable method for
determination of AIDS ?

(A) Westemn blotting
(B) ELISA

(C) Blood grouping

(D) Blood test of parents

What is the number of autosomes
inhuman egg ?

(A) 1

(B) 2

(C) 2

(D) 23

How many phenotypes are found
in F, generation of Mendel's
dihybrid cross ?

(A) 1

B) 2

(C) 3

(D) 4
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GHISR TR 6RAT G54 QAR ?
(A) oyl

(B) @ieaq

(C) 2R6QIER

(D) QLTISRIR

QfQ°al QIQ 694 935 0R g6L ?

(A) Q9gTRGIRIFR FFR Q61
(B) Q919 Q4RI IQERITT 25T
(C) 9e RELAIEr agIoe 293

(D) YMIENNG AGF AT U0
9961 QUISae @IS

41.

42.

What is the main component of

'Gobar'gas ?

(A) Carbon dioxide

(B) Mecthane

(C) Hydrogen

(D) Nitrogen

Which is not a correct statement

tor ecosystem "/

(A) All types of primary
consumers are herbivores

(B) All herbivores are
heterotrophs

(C) Phytoplanktons are
producers

(D) Green plants can convert

energy of sunlight to
chemical energy
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43. Q9 4RI {9199 [Seg @4
QRILINAIXS 7

(A) QQIee

(B) g&eais

(C) eqras

(D) zagee

QR R QVYF A QAIFIES
PIQEG 7

(A) Snel

(B) eolaiQ

(C) Q9 *a<!

(D) <QURATI

609 TRRIGI 2IPY 2T 6TF6R 6R6Q
geNe 6T InaM ?

(A) 1927

(B) 1988

(C) 1972

(D) 2004

45.

46. Q&G QIQAEQ 6QR6E AP FEAIT
Qg 28 ?

(A) 3t

(B) 15

(C) 10

(D) 12

Q16 QIF 699 2°§69 2 ?
(A) Qx4 a8]

(B) ag a9%

(C) @9 g9

(D) 998

47,

45,

47.

What can be called to all types
of secondary consumers ?

(A) Producer

(B) Herbivore

(C) Camivore

(D) Decomposer

Which 'national park' is situated
in our state 7

(A) Chilika

(B) Periyar

(C) Bhitarkanika

(D) Kajiranga

When was National Biodiversity
law enacted in our country ?
(A) 1927

(B) 1988

(C) 1972

(D) 2004

How many pairs of cranial
nerves are present in human
body 7

(A) 31

(B) 15

(C) 10

(D) 12

In which part is olfactory lobe
located ?

(A) Mid brain

(B) Fore brain

(C) Hind brain

(D) Spinal cord
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ERR2lQ CAINIETIRICR DREFIR VS
24 ?
(A)
(B)

e

g9

(C) egyag

(D) @99

QRNIGER ARINEDE I°8 QI @A
6RIQa ?

(A) QRS

(B) «@eq

(C) cagaes

(D) ange

J°-9999 69ac A% Aee A
Q61T & Q0@ 4 ?

(A) @nema

(B) Q2i9e 6aId

(C) 9egs 6x1@xl

(D) Qoae a4a

49,

50.

Where from is the hormone
somatostatic secreted ?

(A) Ovary

(B) Testis

(C) Pancreas

(D) Liver

How do bacteria generally
propagate ?

(A) Binary fission

(B) Budding

(C) Sporulation

(D) Fertilization

With which one does male

gamete fuse to form endosperm
nucleus ?

(A) Eggcell

(B) Synergid cell

(C) Antipodal cell

(D) Secondary nuclei

https://byjus.com


https://byjus.com/?utm_source=pdf-click

